REARY: BHLMFRadE ey &2 —

R LD AL, I al, MHBEMREL FE1 M

2 D DR EERLZE XY OEEDHEPUNTORTEXSNT WS,

Y=1Y=2|Y=3
X=1]| 0.12 0.2 0.08
X=2] 018 0.3 0.12

(1) X &Y DJ0MERD % Ked &
(7). X D JEARER DI,

X O] 1| 2
R 104106

Y DFEOMER DAL,

YOME| 1|2 | 3
xR |03]05]02
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[ffE]: WERZH XY, XY OififffEz ek b &,

E(X)=1x04+42x0.6=1.6,
E(Y)=1x03+2x05+3x02=109,
E(XY)=1x0.1242x0.2+3x0.08+2x 0.1844 x 0.3+ 6 x 0.12 = 3.04.

L7203 T, i ofElx
Cov(X,Y)=E(XY) - E(X)E(Y)=3.04—1.6x1.9=0.
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(2) X &Y 0D Cov(X,Y) 23K K.

(f#): HERZR XY, XY OiffEE ZhZThRkd b L,

B(X)=1x06+2x04=14,
E(Y)=(-1)x02+0x05+1x0.3=0.1,
E(XY)=(-1)x01+1x02+(-2)x0.1+2x0.1=0.1.

U7=23-> T, oo fEix
Cov(X,Y) = E(XY) — E(X)E(Y)=0.1-0.14 = —0.04.
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(f#): HERZR XY, XY OHiffEE ZhZThRkd b L,

E(X)=1x03+2x04+3x03=2,
EY)=0x034+1x04+2x03=1,
EXY)=1x014+2x0142x024+4x01+3x01+6x0.1=2.

L7=23- T, oo fEix
Cov(X,Y) = E(XY) - E(X)E(Y)=2—-2=0.

(3) X &Y HMNZHHER &,
f#]: X=1Y=0IZFEHT B,

P(X=1,Y=0)=01 P(X=1)P(Y =0)=0.3x0.3=0.09
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[f#): HERDANS 8a=1THb. LIzh>T, a=0.125.
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(3) X &Y O Cov(X,Y) 23K K.

[ffE]: WERZH XY, XY OififffEz ehZEhkd s &,

E(X)=1x03754+2x0.25+3 x 0.375 = 2,
E(Y)=1x0.25+10 x 0.375 + 100 x 0.375 = 41.5,
E(XY) = (1+ 10+ 100 + 20 + 200 + 3 + 30 + 300) x 0.125 = 83.
U723 T, D fElE Cov(X,Y) = E(XY) — E(X)E(Y) =83 — 83 = 0.
(4) X &Y 2RI HER K.
f#: X =22 Y=1IcFEATRL,
P(X=2Y=1)=0, P(X=2P =1)=0.25x 0.25 = 0.0625

0, PX=2Y=1)#APX=2PY =1) &&%72 X & Y IFMHITIZZRVL.



